PAT-2017

SET-B
Full Marks : 100 Time : Two Hours

There are 100 questions in this question booklet. 1-40 in Part-l and 41-100 in Part-1. Each
question camies | {one) mark, For each of the lollowing questions from [ ta 100, four answers
@- @.‘r. @ and l@ | are provided out of which only one is correct. Darken the circle ngainst
the correct answer with  black ball point pen. Darkening more than one circle will be

considercd as wrong answers.
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PART - 1
MATHEMATICS

-
I. The median of the data 6, 7, x — 2, x, 17, 20 is 16. Then x is equal to :

36, T x - 2. x 17, 207 s 16=W, (TREA xA WE T
14 () 15
@ 16 @ 17
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The mean of first # natural numbers is El— Then n is :

LAC

9 N

Sn ‘:j/ﬁt r: jf"
uwnmwﬂmmﬂnmﬂ-g—mnwmﬂ: ™ s

@ s ® 4
© 9 (@ 10

If x = 1 is n common root of ax’ +ax+2 = 0 and X’ +x+b = 0, then ab =

mctax+2 = 0 O K+ x+b = 0 %y FhwAmas o x = | [ W, CELE
ab =

=
Al
2 ®© ¢ O
&= ":‘_-__"
© 3 | @ ! (a?
- "

If TP and TQ are two tangents 1o a circle with centre O so that ZPOQ = 1107, then
ZPTQ is equal 1o:

0 mEye 76 G0 TP == TQ =@ 5\ aF=F 1 ZP0Q = 110°, omT LPTQR
ik H

(@ 60° Ab) 70°
© s @ 90°
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6. Ifadigit is chosen at random from the digits 1, 2, 3, 4, 5, 6, 7, 8, 9 then the probability
that it 1s odd is :

1,2,3,4,56, 7, 8, 9 nty PR *@ ofl b wte Ing w0, ACYRD Wy
g TERe e g

® ;5 @
© 3 | ®

O w

| b2

7. If the point (x, 4) li¢s on a circle whose centre is at origin and radius is 5, then

i
(x, 4) Rt o am FEe o o1% SAPIER JEOM @RS WI0F, (I X =

(@ %5 G +3
© o @) +4
8. The circumference and area of a circle are numerically equal. Then the diameter of
the circle is:
<% qE AR wE TR R @A JEOR TP T .
- '?.I.r

n ar "

@ _2_ @ 2n g =

g @ 4

9. The area of a square is same as the arca of a circle. The ratio of their parameters

,.7[ 51 wfosa o @b 7o W m ) Gl RfE were X A
@ n:43 ® 2: v
@3::: @n:ﬁ
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10. The radivs of a wheel is 0-25m. The number of revolutions it will make 1o trave
a distance of 11 km will be :

€5 R TEER TR 025m. 1] km g =Ry A 5RO TR NG TR
(@) 2800 (&) 4000
(©) ss00 @ 7000

1. The radius of a circle is diminished by 10%. lts area will be diminished by:

o5 JE Ty 10% 3wE Fo o) 3elr o TR s XA
@ 10% AB) 19%
(© 20% @ 36%

12. The integer 1 is :

1 Wmh 2|
@ Prime @ Composile
e R
() Neither prime nor composite (d) Both prime and composite

3. What is the remainder left when 2%t + 3x + | is divided by x + 2?

11=+31+Ii:+lﬁm¢ﬁtﬂwmﬁl'ﬂ!

® 1 R

® -

17/SET-B-7500 (4

Scanned by CamScanner



14. Which of the following is not a quadratic equation ?

e R Burs Higas qEW e
@ (x-17+1 =2x - 3

@ X(x+1)+8 = (x+2) (x - 2) ) __5\'6"-3
_,.ﬁ }
"
(© x(2x+5) = xi+| eﬁ"‘“ 0
e SUNE D
@ (2 = ¥ - 4 Coptge
A ;P :

15. If sin (A-B)=4, cos (A + B) = 4, 0° <A+ B < 90” then:
aft sin (A-B)= 4. cos (A + B) = 4, 09 < A + B < 90° cotw’ &
JBY A=45° B =15 (B A=45°,B =30
© A=15B=45° @ A =30°%B =45

16. Find the ares of the shaded region in the diagram where ABCD is a square of side a

’t
14 cm. {bu, g
mﬁ‘mhﬂcnaﬁﬂwtﬁvﬁldcm.vaﬁﬁwmﬁﬁ@mi .‘é/"v%

A
V/zﬂ

A B

D C
84 cm?
@ 42 em? ® B¢
63 cm?
@ 21 em? @
[Tum over y
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17. A cone of height 24 cm and radius of base 6 cm is mndcrusing mnduthE clay. A
girl reshapes it in the form of a sphere. Find out the radius of the sphere.

Hﬁmﬂmﬁﬁﬂﬂmmﬂcmﬂﬁ‘iﬁﬂhm{ﬁcm.mﬂﬂ
ﬂﬁﬂﬁ!ﬁﬁﬂ:@htﬂmmﬁmlcﬂmﬂﬁwimi

A
12 cm
7y AGES 6 em ®

v
& - © 1Bem (d) 24 em
fq.":‘”‘
i .
|8. The ascending order of the numbers €, 7, J2. 2.3 s
2ol & m 3.2 3 MDA S
'L.':':":'*,- ”!'h cx €2 <3 <3 ’@' JE <] < <3 <=
ﬁ‘;ﬁ" : n 3 @ ﬁt!ﬁndlﬁ:
; <2 <g<n <
“fﬂ‘?&‘% @ 'lei -
‘ : Yo — is:
d 19. If x’+F-——i, then the value of X"+ -5 Is
|
) .
o7 x’+;:3=1, (o X+ TR
® * ® 1
© B @ o
20. If 2= - and o +b+c = 0, then the value of each ratio i5 :
L ) a+b c+n 0o+

LiL P i, [ s p+b+c ¢ 0, CBHETA AfFE wHER ¥R LT3
a+b c+an a+b

® 2 - ® 3
&3 @
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21. The mid point of the line joining the points (4, 0) and (-6, 0) is: g3

(4, 0) =% (-6, 0) L s crerwon wgfs v e >3
@ 6.0 ® (-5. 0)
£ (-1, 0) Y .0
22. How many tangents can be drawn from an exterior point o a given circle ?
AR abA e @b qate Raswe =pfa S enfd
(® One (b) Two
TS e
(© Infinite (@ None of the three
ot A RFGR «We Hz 1‘\'&#{})@
23, The sum of first n odd natural numbers is ¥
owx n b = AteRe AwgE ol e
In ®7tn+3 B
@ n’ @ o

24. The material of three spheres of radii 6 cm, 8 cm, and 10 cm are melted and a new
sphere is made. The radius of the new sphere is :

6 cm, 8 cm @ 10 cm @ RED (e sadflE g o8 wga ones A T

it s B i \

T T " An, :;;E(
A

@ 8 cm 'gl__}jlﬂcm L

12 em A o
( At px .;-P\ jlf‘."-'i ,13’ e
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4

AL =

b the mammgde ARG, OB = O AR - S om, SACD - 30 The length of the sude

ABC SEwa JB = O, AR = Som, ZACH - 300 AC @ Tnf) e

@ e D) 10 em B
L . ol =

3
10 <4

= - -
&) 3 - .@ 5 cm .'.l.'\ ﬁ}r:‘!_,*
= ‘..‘:'J

IL iy, -
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o0t frgea Anfles Fofm 2w (, 0), (5, 5) =& (5, -5) feswm a1t

(@) Equilateral

HEAT

28. The vertices of a triangle are (0, 0), (5, 5) and (5, -5). The triangle is: k\’ﬁ
llI‘_,..----"

@ Right nngled but not isosceles
el feg wmfeam oo

@ Isosceles but not right angled

wfiam e e Sm
(d) Both right angled and isosceles

arEi e Hufar

290 If x and y arc 1wn odd integers, then x* + ¥ is:
x =% y ofy =pd W I, CELTETA x4+ oyt T

(@) 0dd (B) Even but not divisible by 4
vy yn frg Ao B =
@ Even and divisible by 4 @ Prime
1w 4 (A frEm cnferes
30. fi7 s :
J17 B
@/ Irrational @ Rational
LBl iz iy
(t) Prime (d) Composile
cnfars e
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- 11. The number 200 is increased by 20%, then decreased by 20%. The new number is :

i l 200 b 209% 2 EF 20% iz fm wn ) W AT g2
| (@) 200 (b) 192
| © 240 (d) 208

32, The radii of two conceniric circles are 5cm and 3 cm. The length of the chord of

the bipger circle which wuches the smaller circle s

@mefﬁcmmﬂm.mmwwmﬂmﬂnﬁ
e A T L3 6

@Hl:m @:}51:111
@ ®/4m @Iﬁ:m

33. The reflection of point (-3, 5) with respect to the x-nxis is :
ey AT (-3, 5) Rate ofdfre On
® 3. -5 (®).(-3. 9
© @3 @ G, -5)

34. The paint on the x-axis which is equidistant from (2, ~5) and (-2, 9) is:

(2, -5) W% (=2, 9) 3 *[A AWATE x-HWFE ofa =t e

® .0 ® 7.0
©® @7 @ 140
PAT-2017/SET-B-7500 (10)
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35. The sum of the AP 34, 32, 30, ... 10 is : ‘\"J:h""\-‘p-
-‘ ‘ W == m _,1-:: H'
34, 32, 30, ..., 10 7ores wafedm qnsress 2 }"ﬁ,)!
4. .
(@) B26 =2 . p
® ®3 ¥
682 P
© @) 286 x;?',
p d
lanB I.I!I.I!I.?ﬂ
+
_-.-I_—n &7 - ] ﬂl ftu
ﬂﬁtanﬂdrmnﬂ_z ﬂ.m‘tﬂmnmm!u 5*&‘
4 ® -2
S 2 ® -+
£
?
17. Cos 60° cos 30° + sin 607 sin 30° is equal to : ﬁ/ﬂ-
Vv
Cos 60° cos 30° + sin 60°sin 3073 TH:
Fa
&
‘ ok
® B 2
@ - @ g -
2 ~th
18, If HCF (26, 169) = 13, then LCM (26, 169) is :
26w 1694 w1, 1 13 @, T frdza mAL0. XA
S 338 ® 52
© 26 ® 1
PAT-2017/SET-B-7500 (1) [
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39, If (x + a) is 8 factor of 2x* + 2ax + 5x + 10 then a is : y g _;l'd'lf
(x+2) T 2¢ + 2ax + 5x + 10 7usiy a0 Tevids zv, CEGRELA n A WA T4l

@4 b 3
@ 2 @ 1

40. The area of two similar triangles are respectively 9 em® and 16 cm’. The ratio of
their corresponding sides is

W W v e a9 om w16 om?. e e A wgerE e
@34 ® 4:3
@ 2:3 @ d: 5

PAT-2012/SET-B-7500 (12)
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4 PART - II
SCIENCE

41. Two charges of IC and 4C are placed O"Sm apart. The ratio of the coulomb forees
experienced by the two charges is:

1C = 2C =ieE w61 AEE ST o u'im{aﬂmﬁﬁﬁm‘i’mmﬁm“
N 7= AT T2

@ 1:1 @ 1:4
(€ 1:8 @ 1:9

)

42. If the potentin] difference between the ends of o fixed resistor is halved, the electric

power will become !

ﬁimmwm?ﬁ@mﬂﬂﬁﬁmwﬁiﬁhﬁﬁmﬁ:

one-fourth () four times
5 QR

(©) double (@ bl
Ay 1]

43, For a frecly falling body what remains constant ?

q@mﬂﬂﬂiﬂﬂﬁmﬁﬁmﬂt

Veloeity @ Acceleration
&% gl
(©) Retardation @ Kinetic encrgy
TR e
PAT-2017/SET-B-7500 (13) [Tum over
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44. An ohject weighs 10 N when measured on the surface of the earth. What would be

its weight when measured on the surface of the moon ?
gt =g OR ew 10N, FEebe TR ow B TR

I'67 N (&) OI167N
167N (@ 167N

45. An object of mass 12 kg is at a certain height above the ground. Polential energy
of the object is 4801, With respect to the ground the height of the object is:

12 kg mﬁ&mvﬁﬁwﬂlmﬂmﬁmwmlwmum o',
gfiq 1 o Twe T9:

L =
o= ¥y P

46. A ship sends an ultrasound that returmns from the sea bed and is detected after 3'42s.
If the speed of the ultrasound through sea water is 1531 ms!, what is the distance
of the sea bed from the ship ?

mmcmwﬂmﬁﬁmﬁmaﬁuﬁwhﬁznmmm
W e | A SRS e S 1531 ms 7, EEEa A FEeFR @y e e

26'18m (& 2618m
(&7 261'm @ 261Em

47. Two bodies of mass 1 kg and 5 kg have equal kinetic energy. The ratio of their velocities

is:
| kg &% 5 kgaq 01 TR e A Tt T PR ARG e 1
125 ® 1:45
© V5:1 (@ None of the three
fefom «bre 72
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48, Lnshlmmmmtnmmﬁmmmlinm&ﬂrqmdﬂfﬁlﬂ

in glass ? (speed of light in air = 3x10" ms™)

CTR TR f |-
smﬁﬁﬁtﬂmmm;mmmﬁmﬂr
(" TR o = 3% 10* ms)

|
10" ms-
® 2 ® 4x10* ms
@ 610 ms-
@ 210" ms*
49. Where should an object be
placed in front of a ¢ lens
e st 2F e onvex to get a real image of
mmmmﬁ‘mmmmwﬁmtﬁmmmmmuﬁﬁw
o =T e
(@ At the principal focus @'A1mmmrmm |
R waes %o By wTe
(©) At infinity (d) Between focus and infinity
TAme ven uw witsey wmws
50. How much work is done in moving a charge of 2C across two points having a potential
difference 42V ?
42V freerem Ry {OM Wws 2C =R Y TR RER @ sGendn e
Ul
B4) 42) v
@ ® W
©® 21 @ 42
PAT-2017/SET-B-7500 (15) [Tum over
v

««««««««««« st 3 Scanned by CamScanner




p o

-y

B é)

51. The resistance of a conductor of length ‘7', cross-sectional area *A’ and 5FI‘-‘E15I

resistance ‘p" is given by:

| T, A e w e e AL S OO oA

/
@ r-op ® "7
!
® ®-h @ R-x

. . - 15l |
57. Three resistonces, each of 302, nre connected in series. The equivalent resistance
the series is:

JnmﬁﬁwmmwaﬁmMamﬂmiﬁiﬁwm ay T4t

@ 10 @ 90
© 3 @ ;0

it
Q-

77 53, 2 wan of power is consumed when LA of current flows at a potential difTerence (

&

p-é::“i IA Foe =z 2 watl o4S wfe =8 2fF@ts T goreim Fewrem sfme 32

¥
..,.,E Vo @ 2V ® 20V
s
© 02V (d) None of the three
fefitr «bre 7=

54. An athlete completes one round of a circular track of diameter 100m in 40 secor
What will be the distance covered in 2 minutes ?

= FERe 100m [ TEeE o o bt 40 carwe e <o s 3| 2 F
TUE (T€ wWiEw T @y Fum g9 e

300 =m (b) 100 xm
© 100 m @ 300 m
PAT-2017/SET-B-7500 (16)
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55, The SI unit of universal gravitational constant, G, Is:
sqdin e s G A S1 osiee g 2

@ Nm kg’ (G Nm kg”
Fg’-ﬁw ket @ N ke’

56. If hydrogen gas is passed over heated copper oxide, the black colour of copper oxide

turns brown. In the reaction copper oxide is :
7 5Td TR TWTE ACHA I TH gﬂqmﬁuwﬂ,mﬁmwwﬁ
e T A SR ) A% [iFwe TR w=Es

{2) Oxidized (® Reduced
s = e =
(©) Remains same (d None of the three
I Y fefom «bre =R

57. The natural source of lactic acid is:

el afer egfes Ca T

(@) Curd () Vinegar
™ fewrim

(c) Tomato (d) Orange
) L)

58. Plaster of Paris is:

HRA =q (g T4
; ’@'(’basgi_ %Hzo (b) CaSO,.2H,0
4" caco,. £H,0 @ CsHCO,.2H0
PAT-2017/SET-B-7500 (17 [Tum over
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59. A solution tums red litmus blue, Its pH is likely to be:

a1 BUE W WHoume Aen =0 =R wEAr pH A
@ 1 ® 4
® s & 10

60. On adding NaHCO, to acetic acid, & gas is evolved which turns lime water milky
due to the formation of :
wsfe wEes NaFICO, 7l @R Serl (001 (e TR PR Tiee e = o=
s o Tesfs T4 AT FMA AR CIEN T 8

(a) Calcium carbonate @ Calcium bicarbonate
ey S (ol (EEBRE AEFEEL

(c) Calcium hydroxide (d) Calcium acetate
e T TR L @=onrg AfbEs

61. The period of the periodic table which contains only gaseous elements is :

oifiqg CIffiers @ (sIEm oA o =il T

@ Period — 1 /@3‘ Period — 2
#ufa - | srafai - 2

@ Period - 3 @ Period — 4

sfafi - 3 o[t - 4

PAT-2017/SET-B-7500 (18)
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62. Which of the following hydroxides is most basic ?
T (P YIEWEC AbiEets @R wEam ¢
Be(OH), F  Mg(OH),
(© Ca(om), @ Ba(OH),

63. When zinc metal is heated with caustic soda solution, the gas evolved is:

fice arge ofts w'el @=a e Gwie oRTA B b T4 S

Hydrogen ® Cubon dioxide
T T iR

(©) Oxygen (@ Hydrogen chloride
ST WAL e T LS

64. An ore of manganese metal is:

crsifie ¥4 T WEEAT T :

Bauxite /@f | Haematite *
THLD CRGITG

(c) Cuprite (d) Pyrolusite
RrEeliEs MESIG BET

65. In acrosol. the dispersed phase and dispersion medium are respectively :
e e ot oie B¥E maw 29 a0
Liquid and gas (b) Solid and liquid

a7 Ui (5T (511 % S
,@’;ﬁijquid and solid @ Gas and liquid
S9E o (ot (55 H% T4
PAT-2017/SET-B-7500 (19) [Tum over
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66. The number of protons, neutrons ond electrons of #n nluminium atom having magy
number 27 are respectively :

27 &1 wewn BFER GefiFRmm emmy oBrE o #'Gw, FEIN W REFW T

[rilas i

(@) 13, 14, 13 b 13,13, 14

© 14,14, 12 @ 13,13, 13
67. The formula of laughing gas is:

I (g HEES X+ ¢ .

(@ N, L@ NO

® NoO @ No,

68. Aqua regia is:
wrEars ¥
@ Mixture of concentrated HCI and concentrated HNO, in the ratip 1:3

o HCl = o1 FINO,-3 | :3 wmpsirea fi

(b) Mixture of concentrated HCI and concentrated H,SO, in the ratio 1:3
My HCl =% amp H,S0,-3 | :3 wepstiea iy

(c) Mixture of concentrated HCI and concentrated HNO, in the ratio 3: |
¢ HCl =% g HNO,-7 3: | wijsires i

(@ Mixture of concentrated HCI and concentrated H,80, in the ratio 3:1

My HCl =% a5 H,80,-3 3:1 wwsien i

PAT-2017/SET-B-7500 M
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69. Na* ion has 12 neutrons and 10 electrons, Which of the following statement Is correct ?
Na* TS 1201 FEd wis 100 =137 wee | wem il ©fF @ ¢

@ Na® has atomic number 19 and mess number 22
Na® 3 =193l @it 10 s @ ey 22
@Nﬁ* has atomic number 11 and mass number 23

Na'3 ey Twiee 1] wis o =T 23

(c) Na* has atomic number 10 and mass number 23
Na* 3 *[3lY T 10 w= =5 Heay 23

(d Na" has atomic number 11 and mass number 22

Na" 3 a9 7l 1] o o9 Teiee 22

70. Ethanoic acid reacts with absolute ethanol in presence of acid catalyst to produce an :

WA ufbre «ffs sREte Soififer Ruw iR tire f[iem of Sem =1 S
T s

Acid (b) Ester
«fee %A

(©) Aldehyde @ Ketone
TEZRE L

71. Which one of the following melals can be cul with a knife?

CFd (SFID! {TET oM Foq @i ¢
@) Fe ® Cu
@Nﬂ @ Au

[Turn over
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72. Which of the following represents a saponification reaction ? B—
Coie fim @l oo Rieese @ eEmree Rigwm 29t
(@ CH,COONa + NaOH _ CaO | CH, + Na,CO,
(®) CH,COOH + CHOH _HS0, | CHCOOCH,+ HO

(©) 2CH,COOH + 2Na ___, 2CH,COONa + H,

(@) CH,co0CH,+ NaOH , CH,COONa + C,H,OH

73. The elements A, B, C, D and E have atomic numbers 9, 11, 17, 12 and 13 respectively.

Which pair ol elements belongs to the same group ?

A, B, C, D 9% [ GMAeHR +[] &g adisom 9, 11, 17, 12 == 13, =5 &H
ol T el anfe wifd »

(@ Aand B ()) Band D
A =% B B =% D
(© Dand E @ AewmdcC
D @& E A wIi% C

74. Arrange the following elements in the order of their inereasing nonmetallic character

Wﬁmcﬂﬁmﬁi@wmm@mwg

I;i"‘ ,.D'l gr ]‘3'_':1 F

-

F< - '
@ O0<C<Be<[j E@ Li‘:BE{C{D{F

© F<o<c<pi<
t< Be @ Li<F<Be<oQ<c

PAT-2017/SET-B-750¢ (22
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2z, Which of the following metals can displace the other three metals from the noltlon
of their salts ?

e (WD MYR WHEEN wge Piden wara uaa efq aepifde afda efica

(@ Mg O
© Zn @ Cu
76.-The reaction Na,SO, + BaCl, - BaSO, + 2NaCl is :

d
Na,SO, + BaCl, = BaSO, + 2NaCl Rfdm®bt ' s

Redox reaction (b) Displacement reaction
e i e Al

@ Decomposition reaction @ Double displacement reaction
Roarem Rirm f-mepitas fafamm

77. Which oxide is neutral among the following ?

4
e5q @ WHEE o 7

@ co, ® No
(c) MnO @ SO,

,ﬁ. The acid present in gastric juice of a human system is:

TR TR T 9T afbenl 79
H,SO, (b) CH,COOH
© HNoO, @ Hel

PAT-2017/SET-B-7500 (23) - [Tum over I
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':'EIL./Th: formula unit mass of CaCl, is:

n;?l;: CaCla e o6 &3 et

LPL@"" @ 100 u @ I1Tu
‘ Vv
4 ﬁ@ 200 u @ 21u
JRCA
/}.
A

¢ 80. The correct electronic configuration of chloride ion is :

PAEE R oF AP A ga
@ 287 ® 2838
© 2738 @ 2817

81. A mixture of ammonium chloride and potassium nitrate can be separated by :
ORI FAEE A AR AT A o weR @R gUnR SjeE TR o

Fractional distillation @ Fractional crystallization
e i e whbdmad

(©) Filtration (d Decantation
*tf¥ara =R

82. Solid form of which gas is called dry ice?

Hﬁfmmﬂﬁﬁﬂmaaﬁmmﬂf
@NHJ @ CH
@CDJ @ 0

: "ZIII'HS ET"B"?Sﬂu fax
wostonoa Scanned by CamScanner
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siall ©

g3. In which of the following pairs both the compounds are not |
oA (I (WA AR STED ol e CT S e

@ 9
onic compounds

(@) KCl, HCl (& Hcl, cCl,

(c) CCl,, NaCl @ Kci, CCl,

84. In stainless steel, iron is mixed with:

Fases 7 (A3ATe SMfe Wi o5e e = 5
(@ Ni+Cr @ Cu + Cr
@Ni+Cu @ Cu + Au

85. Ildentify the oxidizing sgent:

A A6 foerE 308
() Bleaching powder

FfEe e

Washing soda

FCAR (HE Bl
(d) Sodium hydroxide

Ak DR R B

@ Plaster of Paris

#ER Wy "

86. A body having uniform accelcration of 10 ms™ has a velocity of 100 ms™. In what

time the velocity will be doubled?

-zmwwmmmmr'.ﬁwmmwﬁmmww1

10 ms

8s @
© 12 @ 14s o

10s
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& W ¥z
an leration of 4 ms?, Ty <

_ :ad on a body produces an nece’ : . The i

87. A 12 N farce when applie o eration of 10 ms™ is :

required 1o give this body Bn
- 2
12 N 71 S AR TS g e R 29 4 ms? | 7EER T 10 ms Tm :

Flmsslm &= WF 233

ON
@ 15N ® ?

@ 0N @ JON |

. i fits kinet
g8. The momentum of & body is doubled. What will be the rale of increment 01 1 e

energy 7

T M mauﬂahﬂﬁﬂﬁﬂqfﬁmﬁﬂmﬁ?
(@) 300% ) 100%
(© 200% (@) 400%

89. The value of acceleration dug to gravity : |

ayelEE 3 T § 1
() is the same at all places |
- ot TFTS T3 !

@ is zero at the surface of the earth

YIS

(©) decreases from the equator to the poles

fadm wwea 3 (W8 e Twe 3 AW
@ increases from Lhe equator 1o the poles

Ry wwers o1 (% Ssis @ie 3 A
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0. Water stored in 8 dam posscsses :

w5 AT WS I o e

@ no encrgy @ electrical energy
=& A= Tgfes «fF o
/ (©) Kkinetic encrgy (@) potential encrEy
wfe=fe <= ffe=fe s
’ 91. A car is accelerated on a levelled road and attains a speed of 4 times its initial speed.

In this process the kinetic energy of the car:

S e GAE TS G TS T I (e ARIES oo bR 2 | AfElTe A
e ¢

does not change
A T

@ becomes 4 times that of initial Kinctic energy
wafEs afeeea 4 o4 29 .

(©) becomes 16 times that of initial kinetic energy

sirafae ffefea 16 o4 T9

(@ becomes 8 times thal of initial kinetic energy

safas sfefea 8 ad 24
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92. The gravitational force of attraction between lwo objects is x, Keeping the Migs
of the objects unchanged, if the distance between the objeots is hplyed they
L4 mu

magnitude of gravitational force between them will become :

@Wmmwﬁx.mﬁmawfmﬁwﬁwﬁwmmaﬁmm
T WA gat

@4:: @%
@._:' ) 2x

93. If n thunder is heard by a man 4 seconds after the lightning is scen und speed of
b sound in air is 330 ms™, how far is the lightning from the man ?

JE}
N mmﬁﬁw#mmmﬂhwuﬁmmlwwm
Jjﬂw‘rﬁﬁqmqﬁqﬁaﬂﬁmmmﬁﬂr

(@ 1320m (® 1520m
© 1230m @ 1350m

94. When we change a feeble sound 1o a loud sound, we increase jis :

ﬁiwwmmmﬂmmﬁawmwﬁmﬁ,mmmt

velogi
@ y @ frequency
541
T
(©) amplitude
@ wavelength
o
2 R
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95. Sound waves travel fastest in - v
T TR BN AoiA e A weeh 7
@ Liquids (b) Solids
A T
(©) Gases (@ Vacuum
i al'y o
96. The image of an object formed by n plane mirror is: 7

TEE WL Sedy T =feRwn o9 s

@ Real @ Inverted

e, GG
() Vit (@ Diminished
e UEAE #%

97. Which of the following letter does not show lateral inversion 7

T FEl PFCH R AT R @R ¢
& N ® P
© Q @ o

08. Mimror that can be chosen 10 view a tall building in a small mirror is

ﬂwwﬁﬁanmtrwmmﬂmmﬁmﬁmmmmmmmwz‘qmﬁﬂ

@ Plane mirror @ Convex mirror
HAEH LA B WL
@ Concave mirror @ None of the three
TATH HILHF feForm «hre =
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99. A person can not see distant objects clearly. His vision can be corregiey by v: |
the speciacles containing : m“'l
T HTE A 4 TS (1 I | mﬂiﬂﬂ”ﬁ”’m“"ﬁﬁwﬁﬂwﬁﬁ%
(1% T|A:

(@) Plane lens (h) Convex lens
wes (e Ton 7

(¢} Concave lens (@ Nonc of the three
TTEH o abe H5

100.0ut of the following, the colour of the light baving maximum wavelength is :

e R e A s oA W TE

@ Violet @ Rluc
A

@ Orange
et

««««««««««« st 3 Scanned by CamScanner



